RN

oW op
v AN
nigTh - |nia
26 -4 'ny
JUPTA 202 1030 17 20N | oknn L1
N (3)(3)(-2)(-2) = 46
1) 4-4:6:4:6:4:6 = 4*. 6°
Ladn b o —2. (=22
B SR (=3)*+ (-2)
1 3
7 4-4-6-646 = (;)

(N'910n NAIWNN NIX 71 12N2) IAYNN NIZIYD 1T0 M0 '9 7V O'NAN 0'7' 0NN NN INN9. .2

) 5-3% =

1) (12-11)%:12

2) (3P + (21
T 2°+5 =

n) (3-3p-2% =

4+6° _
52 _17

1 N2 -0 nano



2"op

vl ABCD vanm monan .3

nw?¥ |n BC -1 AD nwv'n¥n

x

2 nwwn BC -1 AB nvixn .aa

nrpp «C -1 <A

nmrpp <D -1 <A LT

TR 7w wmn 10d9Rn N LP m7T nin KLMP
In'ran

RN [IN7TY 99 'wRAN I027RD (R)

0 TN e wwan nent (1)

A0 N 2w T N (a)

.CB=CD , AB = AD jm71xin ABCD
amren

XIN [IN7TH 7@ 'UROND 1007RD (K)
NID IR Y wnn jodxn ()

10 IMTT e wan nient - (a)

1 N2 -0 nano

0 T e T nir - (1)
10700 MK NNo

lan7¥na

(4

. (5



